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Question No. 1

few av fawedt F & 3w F A
A) K B) X
C) R D) N

Find the ODD one out from the given options.

A) K B) X
C) R D) N
Answer Key : A Your Response : A (Correct)

Question No. 2

TM7TH IV AP, QAR F T 172 : 1/3 : 1/4 IqUIT & TAT AN ¥ 2 : 3 : 4 &
3reqara 3 faenfora fmam oram sw fasTerT 7 @l g At ofXr ik fraem sroa e 82

A) P, .28 B) Q, .35

C) R, %.27 D) R, %.25

Instead of dividing Rs.117 among P, Q and R in the ratio 1/2 : 1/3 : 1/4, it was wrongly divided in
the ratio 2 : 3 : 4. Who gains the most in this distribution and how much do they gain?

A) P, Rs.28 B) Q, Rs.35
C) R,Rs.27 D) R, Rs.25
Answer Key : D Your Response : D (Correct)

Question No. 3

(@3 + bd), (a + b)? 3T (a2 - b?) Fr A.H.A(HCF) AT Hfswl

A) (a+b)(a-b), B) (a_+ b)




C) (a - b) D) (83 + b3) (82 _ bz)

Find the HCF of (a3 + b3), (a + b)? and (a2 - b?).

A) (a+b)(a-b) B) (a+Db)
C) (a-b) D) (83 + b3) (a2 - b?)
Answer Key : B Your Response : B (Correct)

Question No. 4

%.800 Fr AR FUROT sAT fr th AT g W 3 a¥ F $.956 & S §l & AT L2
A) 6.5% B) 8%

C) 7.5% D) 8.2%

Rs.800 become Rs.956 in 3 years at a certain rate of Simple Interest. What is the rate?

A) 6.5% B) 8%
C) 7.5% D) 8.2%
Answer Key : A Your Response : A (Correct)

Question No. 5

e T % FAHR Hicdls’ THF SelAFER THE Tgeld 67

A) AT B) FRgsr
C) &U%h D) $Rd«ACIH

In which dance form do performers wear a cylindrical skirt named 'Potloi'?

A) Manipuri B) Kuchipudi
C) Kathak D) Bharatanatyam
Answer Key : A Your Response : Not Answered

Question No. 6

I Uad, St WeEdie dY g & fAU ua soaela oA F g T 6, __ Sgellar gl

AN =S A I e = 7 1




C) TEw 3w D) StreE-ardy &%

A substance that donates a pair of electrons to form coordinate covalent bond is called-

A) Lewis-base B) Bronsted-Lowry acid
C) Lewis-acid D) Bronsted-Lowry base
Answer Key : A Your Response : Not Answered

Question No. 7

g a+b+c=0% a (b + c)bc + (c +a)lca + (a + b)2/ab T AT AT HLl

A) 8abc B) 22 + p2 + 2

C) 2(a + b + c)? D) 3

If a + b + ¢c=0 then find value of (b + c)?*/bc + (c + a)?/ca + (a + b)*/ab.

A) 8abc B) a%+ b?+ c?
C) 2(a+b+c) D) 3
Answer Key : D Your Response : C (Wrong)

Question No. 8

'@l Y (SFC T alt)' = g2
A) AT F AT glar § 3R e & & B) B9 #r Ovus waeer & gar §, dfehd g

goT fasfa giarn &l T H R Rd g g
C) 39 o1 Av=e ey & giar §, kT D) B9 &1 Fvud w@aer & glar § 3R
qr@Ten # fwfad gar g qr@Tel # & RFefad gar gl

What is a 'Test tube Baby?'

A) Fertilisation takes place in uterus and B) Fertilisation of ovum takes place in the test
embryo develops in uterus tube, but it develops in uterus

C) Fertilisation of the ovum takes place in D) Fertilisation of ovum takes place in the test
uterus, but develops in the test tube tube and develops in the test tube itself

Answer Key : B s Your Resnonse * Not_Ancwared




Question No. 9

OTer T tanA | cotA
(1+tan® A)* (1+cot® AY

A) B)
sin A cos A 2sin Acos A
0) D)
sin A - cos A (sin A + cos A)?
Simplify: tanA | cotA

(1+tan” A) 2 (1+cot” A)

A) B)
sinA cos A 2sinAcos A
0 D)
sinA-cosA (sin A +cos A)?
Answer Key : A Your Response : A (Correct)

Question No. 10




CT *1C et H F I8 Apld I, FT A 1GT AT 9T &l T HAm
&l |

A) B)

0 . D)
ﬂ"g\

Choose from the alternatives the figure that best completes the
pattern given below.

A) ) —




Answer Key : D Your Response : D (Correct)

Question No. 11

W FE [2 % (3/2) - 3 x (2/3)] x [2/5 of 3/5 of 100]
A) 25 B) 0

C) 24 D) 12

Simplify: [2 x (3/2) - 3 x (2/3)]  [2/5 of 3/5 of 100]

A) 25 B) O
C) 24 D) 12
Answer Key : C Your Response : C (Correct)

Question No. 12
fPrff@a & ¥ Fi7 o 99 ¥ W TAE F oigad F FAT §?
A) IR S B) soie

C) Iif3e o D) FAST

Which of the following forces acts on an object perpendicular to the surface?

A) Magnetic force B) Thrust
C) Mechanical force D) Spring force
Answer Key : B Your Response : C (Wrong)

Question No. 13

SERIR fhaehT TeTermel 87
A) 3T%UTTE Yger B) &foqRT
C) ghamom D) 3&#H

Itanagar is the capital of-
A) Arunachal Pradesh B) Manipur

C) Haryana D) Assam _




Answer Key: A Your Response : A (Correct)

Question No. 14

U AT H &TGel, Uh @@ & &Thel H 9/20 I g1 IE I3Ad $ir oar$ AR =lsi$ 54 &
3eare # @, o I 3R T & aRAT F IEE AT P

A) 27 : 40 B) 25 : 45

C) 27 : 20 D) 25 : 48

The area of a rectangle is 9/20 times the area of a square. If the length and breadth of the
rectangle are in the ratio 5 : 4, then find the ratio of perimeters of rectangle and square.

A) 27 :40 B) 25:45
C) 27:20 D) 25:48
Answer Key : A Your Response : A (Correct)

Question No. 15

& difdT 7 o T I W SR das 20% 3K Dl 10% &A@ 151 Sad AT F
forcer afaRia #r Falr §3?

A) 28% B) 10%

C) 10.08% D) 20%

A towel, when bleached, was found to have lost 20% of its length and 10% of its breadth. Find
the percentage of decrease in its area.

A) 28% B) 10%
C) 10.08% D) 20%
Answer Key : A Your Response : A (Correct)

Question No. 16

ar o P 3R Q, 5 fHel/der & vwarg arell arr $r form o &Y e A 3K B & & e £
alsit QET UH qEy ¥ 300 fRer #r gfr W §, 3R P AR Q & AT Ser F =T AT 25 e
ger 3k 15 frefifeer g1 P 31X Q U Wy %A AT A @ B & 3K, B @ A &r 3R T g%
el §1 3 gad aR Fa 3k Tl R




A) 20 €& & §1g B & 200 el gfr w B) 12 6 & a1 B & 100 frefll g W
C) 10 €& & &g B & 100 fel gff W D) 20 €& & o1& B & 100 el g W

Two boats P and Q run between two cities A and B on a stream with flow of 5 km/h. The cities
are 300 km apart and P and Q have still water speeds of 25 km/h and 15 km/h respectively. P
and Q start from cities A and B towards B and A respectively at the same time. When and
where will they meet for the second time?

A) After 20 hours at 200 km from B B) After 12 hours at 100 km from B
C) After 10 hours at 100 km from B D) After 20 hours at 100 km from B
Answer Key : A Your Response : Not Answered

Question No. 17

Ao @ qof el

A D, H M, S, ()
A) U B) Y

C) V D) Z

Complete the series.

A,D,H,M,S, (...)

A) U B) Y
C)V D) Z
Answer Key : D Your Response : D (Correct)

Question No. 18

fefaf@a & @ #la a1 i Re a1v Haer it wafcder dor F qob Hem?




RAT : SDY :: BAD : ?
A) DCI B) CDI

C) BFL D) LFB

Which of the following will best complete the relationship given below?

RAT : SDY :: BAD : ?

A) DCI B) CDI
C) BFL D) LFB
Answer Key : B Your Response : B (Correct)

Question No. 19

qﬁlAla;rwl_l_l%-’ 'B'Wm'-'%, lcla;rm|x|3;nT|Dla;rml+|%-’aT(1 D 1
C1)A(2C2D2A(3D3C3)B(4C 4D 4) F AT 71d F

A) 3 B) 2

C) 6 D) 10

If 'A' means '+', 'B' means -, 'C' means 'x' and 'D' means '+, then find the valueof (1 D1 C 1) A
(2C2D2)A(3D3C3)B(4C4D4).

A) 3 B) 2
C) 6 D) 10
Answer Key : B Your Response : B (Correct)

Question No. 20

3 MPHIT T84 H, Al Arafiaa At & & o omee @
Fafeas & @ FreRiE FaT A

ST, g, gR, & Hr FEr




C) D)

Choose the figure that best represents the relationship among the
classes given below.
Ring, Ornaments, Necklace, Diamond ring

A) | B)

@) D)

Answer Key : A Your Response : A (Correct)

Question No. 21

ORI & F.14000 1 v %7 forar O et anf & a1 10% arfds &r ¥ § THqfe soe1 |
YHRIT ST §1 3/ et af a1g Fer et TR T $ITAT FAT HMT?

A) 17940 B) %.18497

C) ¥.16200 D) %.18634

Ganesh took a loan ¢ aage with_Camnnnd Interest at 10%



per annum. How much total amount should he pay at the end of three years?

A) Rs.17940 B) Rs.18497
C) Rs.16200 D) Rs.18634
Answer Key : D Your Response : D (Correct)

Question No. 22
PleT AT YT GF & Frr 1 orelr 37 aRafela var 872

A) TaafAs da B) sk Gl
C) sl D) &I &a

Which device converts sunlight into electricity?

A) Chemical cell B) Dry cell
C) Battery D) Solar cell
Answer Key : D Your Response : D (Correct)

Question No. 23
TYUT FH T & o B meier & aifaeher st & e @R @ ST 82
A) XS B) T FHRAA

C) 3ya¥sh D) T¥edr weal

What placed between moving parts of a machine can reduce friction?

A) Resins B) Air cushion
C) Abrasives D) Rough material
Answer Key : B Your Response : C (Wrong)

Question No. 24

Ife a 3R b rwEsTsT & §, ar a2 3w b2 el
A) TSI B) alar @
C) ST =161 &, T 3 gHT=T TEAT & &f D) &=t fawe

Y /




If a and b are coprime , then a? and b? are-

A) Coprime B) Both even
C) Need not be coprime D) Both odd
Answer Key : A Your Response : C (Wrong)

Question No. 25

39 ST ¢ H aT%d Ad Hifoe, S disg 2 et g 3k st 20 #Hlex x 18 #Hex wRaw
qel T T & IRT 31 SoI13r a=r @2

A) 136 #ex2 B) 168 #ex?

C) 200 #ex? D) 140 #Hex2

What is the area of the jogging track which is 2 m wide that runs along the perimeter of a
rectangle 20 m x 18 m inside it?

A) 136 m? B) 168 m?
C) 200 m? D) 140 m?
Answer Key : B Your Response : B (Correct)

Question No. 26

& S Ry F o T B2

A) B)

L2
-1
L2
W]

O " D) - 1




19 18

How many squares are there in the given figure?

A) B)
2% B85
C D
) 19 ) 18
Answer Key : A Your Response : B (Wrong)

Question No. 27

9% ey U aREse Hler @ §, S affat Hr yeendr 6t #F R &ar §, 3R o F R
T BT 87

A) e B) Heaf¥ aN#Hse
C) 3R D) giE

(&

Which is the most famous constellation ,which appears in the early summer nights, which has a

bear shape?
A) Leo B) Ursa Major
C) Orion D) Scorpio
Answer Key : B Your Response : Not Answered

Question No. 28




Hifgd A3 grssiauss ™oy &1 pH AT Fr 82
A) 14 B) 10

C) 4 D) 7

What is the pH of concentrated sodium hydroxide solution?

A) 14 B) 10
C) 4 D) 7
Answer Key : A Your Response : Not Answered

Question No. 29
D T 7 AR F B B VAT A @ Fgh 82

NREEE B) erfsifeiar
C) asirdrer D) eirEd

The little Rangeet river flows by which hill station of India?

A) Shimla B) Darjeeling
C) Nainital D) Ranikhet
Answer Key : B Your Response : Not Answered

Question No. 30

rfaf@d Sofr # seefta seR-ag 7 few|

MB, OE, UJ, (.), EZ
A) KS B) SQ

C) RC D) PA

Find the missing group of alphabets in the following series.

MB, OE, UJ, (...), EZ

AY KS " PO - ,




C) RC D) PA

Answer Key : B Your Response : A (Wrong)

Question No. 31

fraeeT & e Al &1 AT _ETaA gier 8, I« ¥ form S g
A) sge (Mode) B) IUliceR ATET
C) #nfegshr (Median) D) THAIR AT

The sum of the absolute values of deviations is least when taken from the

A) Mode B) Geometric mean
C) Median D) Arithmetic mean
Answer Key : C Your Response : Not Answered

Question No. 32

30 To®ed & T99 &Y, S AHid J FoT e (?) & TUAT W W
1 % o wafeas 39gFa 2l

1|4 2

3| 3 4

31 2

49| 64 169

A) B)
N

10
0] D) 4




Choose the alternative that best replaces the question mark(?) in the

given figure.
14 2
3 3 4
3 1 2
49| 64 169
A) - B)
10
0) D) A
8
Answer Key : A Your Response : A (Correct)

Question No. 33

5% @I Fc & WA $.6500 FT WA TIGT IAT a0 o 7 4% $T hr & f@e an e
RN AT Hfw|

A) %.6600 B) %.6576

C) %.6522 D) %.6422

Goods worth Rs.6500 with a rebate of 5% were purchased. Then sales tax at 4% was included
in the bill. What is the amount of the bill?

A) Rs.6600 B) Rs.6576
C) Rs.6522 D) Rs.6422
Answer Key : D Your Response : Not Answered

Question No. 34

DNA 3fefsht # SfteT Bl RIfPTd et B gfthar o a1 Bal ST 82




A) THARCAT B) uifcaif@aa
C) Hrerder 3rdeelr D) ST TeFauer

The process of marking genes in a DNA sequence is called-

A) Annotation B) Proteomics
C) Sequence assembly D) Gene expression
Answer Key : A Your Response : Not Answered

Question No. 35
fRrfaf@d § & fFa 9w & scafs 3T yfade gar &2
A) YiaIeeh B) drelsh
C) faegaxreh D) 3ffd-mereh

~O

Which of the following substances has infinitely high resistance?

A) Resistors B) Conductors
C) Insulators D) Super conductors
Answer Key : C Your Response : A (Wrong)

Question No. 36

i 'tir sil fit' & AU 'nice big home' §, 'kon hit sil' T 3IfAYRT 'home is good' 3T 'bdf
zkr kon' & AT 'cost is low' &, fraer 3R 'good’ & &2

A) sil B) zkr

C) kon D) hit

If 'tir sil fit' stands for 'nice big home'; 'kon hit sil' stands for 'home is good' and ‘bdf zkr kon'
stands for 'cost is low', which word would represent ‘good'?

A) sil B) zkr
C) kon D) hit

Answer Key : D Your Response : D (Correct)




U fARET HesmsT #, 'MAN' & 'SANM' forer Sirar @, 3 'WORD' &t 'SORDW' farar e g1
34T HeHTST F 'SALE' # F& forar Srem?

A) LESAS B) LEASS

C) SALES D) SEALS

In a certain code, 'MAN' is written as 'SANM', and 'WORD' is written as 'SORDW'. How would
'SALE' be written in that code?

A) LESAS B) LEASS
C) SALES D) SEALS
Answer Key : C Your Response : D (Wrong)

Question No. 38

Afaf@d 3 T Y SONAR & ASE I AT ST Hhdl &7

A) ST H SRT SaRT 3ceel &dfel B) gdTs Sigrail & gl
C) argami fr eafer O D) Wil & 3ieY Hislg a&g3it & o, fgem 3R
i

Which of the following can be measured with the help of SONAR?
A) Sound created by animals in forest B) Distance of aircrafts

C) Sound pitch of aircrafts D) Distance, direction and speed of under

water objects.

Answer Key : D Your Response : Not Answered

Question No. 39

T 1T Bewedt 7 ¥ TS P g

A) B)




C) D)

Find the ODD one out from the given options. :
A) B) )
o) , D)
Answer Key : D Your:{:sponse : D (Correct)

Question No. 40
farfaf@a F & sla ar ger W Reg F7 2019 $ir AqEET HE?
A) =TT B) el

C) deA D) SidreT

Which of the following countries will host the Rugby World Cup 2019?

Y / 1




A) Indonesia B) Canada
C) China D) Japan

Answer Key : D Your Response : Not Answered

Question No. 41

SIH H PleT W FANT FT SoFeliad Qe &7

A) 2,7 B) 2,8, 7

C) 2,8, 8,7 D) 2,7, 8

The electronic configuration of chlorine is-

A) 2,7 B) 2,8,7
C) 2,8,8,7 D) 2,7,8
Answer Key : B Your Response : B (Correct)

Question No. 42

frfafad # ¥ fra dledfrhr w1 BfSies $f3ar aga 2018 i 3R g5 W@ 4o &
ded Colfead REHR Feld fhar arar?

A) Tsthle Ea 9RATSTT B) sdllhdel SFColldicld 31 o Reprsd, 3mey
geer

C) 3ToeR TAIC /e gRIASTEAT D) ToRId U & ToIU HEel & & 3eholel
3R R FT 3Tehelel

Which of the following technology won the Platinum under Emerging Technology category of
Digital India Awards 2018?

A) Rajkot Eyeway Project B) Blockchain Implementation in Land
Records, Andhra Pradesh

C) Ajmer Smart City Project D) Crop Area Estimation and Loss

Assessment for the State of Gujarat

Answer Key : A Your Response : Not Answered

Question No. 43




e el TS & olrerwe 7 weiftes @€ sqgfRa Seeniaal & fAv IR 82
A) TET YU B) 3TeT ucer

C) TSTEUTA D) ISR

9

Which Indian state has the largest number of seats reserved for the Scheduled Tribes in the
Lok Sabha?

A) Madhya Pradesh B) Andhra Pradesh
C) Rajasthan D) Gujarat
Answer Key : A Your Response : B (Wrong)

Question No. 44
9 FrHAd ufaa¥ 20% & 100% F S Ir s6A 3% i g A dedr &, ar s R Fgr Sar 82
A) vIferd FeredIfd (Running inflation) B) ost Harehifd (Trotting inflation)
C) eRTH FAEERTA (Hyperinflation) D) #e e (Creeping inflation)

When prices rise between 20% to 100% per annum or even more, it is termed as-

A) Running inflation B) Trotting inflation
C) Hyperinflation D) Creeping inflation
Answer Key : C Your Response : Not Answered

Question No. 45

©.150000 ;T H Teh B X A Y &I 5% o7 W a=ml I Y, 2% gifer & & Ig & X &t
I 9 &ar &, & R eleteeT A -

A) X P %.4350 Fr gifer gidr & | B) X T %.3150 &T 19T §IdT ¢l
C) X &I %.1350 & gIfe gidr gl D) X T ¥.4350 T o197 gar gl

A house worth Rs.150000 is sold by X to Y at 5% profit. If Y sells the house back to X at 2%
loss, then in the entire transaction:

A) X loses Rs.4350: RaeeG@iagel” ~—4- 50—




C) Xloses Rs.1350 D) X gains Rs.4350

Answer Key : B Your Response : A (Wrong)

Question No. 46

A 3R B T 3 T IR 6 § 3T 3oIeT Ul 3:5 &1 SeTehr Y 1 AT AT HifSw]
A) 16 B) 24

C) 32 D) 40

Ages of A and B differ by 6 and are in the ratio 3 : 5. What is the sum of their ages?

A) 16 B) 24
C) 32 D) 40
Answer Key : B Your Response : B (Correct)

Question No. 47

g e, S Y I 39a 3ET #T 3NE-9ET @& F AT Adiffie I § 33 w2
&gl SIrar 872

A) el fawamae st B) fawamder srf@fear
C) 3gadigay (Redox) 3ffafean D) el AfAfRar

The reaction in which two compound exchange their ions to form two new compounds is called-

A) Double displacement reaction B) Displacement reaction
C) Redox reaction D) Combination reaction
Answer Key : A Your Response : Not Answered

Question No. 48
IR i WAy e et #l
A) & 3l B) & SRIeR
C) ¥ & D) ¥ 3

The atomic radius of potassium is that of sodium.




A) Half B) Equal to
C) Lesser than D) Greater than

Answer Key : D Your Response : Not Answered

Question No. 49

RFAfAfRd F ¥ FiT rae a7 &1 REar 78 872

A) 3THETRT B) &<J

C) Ihd D) #Hg

C

Which of the following is NOT a part of the digestive system?

A) Stomach B) Heart
C) Liver D) Mouth
Answer Key : B Your Response : B (Correct)

Question No. 50

A) 1983 B) 1980
C) 1984 D) 1981

When did Bhopal gas tragedy take place?

A) 1983 B) 1980
C) 1984 D) 1981
Answer Key : C Your Response : Not Answered

Question No. 51

A uisy, U &F A AR 30 fAde 31 60 e #H s uFha &1 do F e AR usy § S 5@
120 e & @relr FT &Ml AfE W ursy g §, o & Fhdr w77 7 sam?

A) 24 Tele B) 40 f&ee
C) 50 f&eic D) 52 f&sic

ny / 1



Two pipes can fill a tank in 30 minutes and 60 minutes respectively. Another pipe at the bottom
will empty it in 120 minutes. If all the pipes are open, in what time will the tank get filled?

A) 24 minutes B) 40 minutes
C) 50 minutes D) 52 minutes
Answer Key : A Your Response : A (Correct)

Question No. 52

gin 30°17" cosee 32°
cos 59°%4 3" sec H&°

& A AT PIAT]

A) B)

L2
—
—
L2

o) D)

sin 30°17" cosec 32°
cos 59°43' sec 58°

Find the value of

A) B)

L2
p—
—
L2

O D)




Answer Key : C Your Response : C (Correct)

Question No. 53

IS FUA (Af) T TIT F
(i) 3T BT &, 3er < &I
(i) P FEuEt # 3RT Pt F 7 F OrEr ST g g

(iii) 3R =il A arw Ay FEABEt & §7 7 fwr ST Fhdr gl
(iv) THAT BT FT 37T AT giar gl

A) FHad HU (iv) B) hadl &Y (i) 3N (iv)
C) ohddl HUT (ii) D) ohdol U (iii)

Mark the INCORRECT statement(s).

(i) In a proper fraction, numerator < denominator.

(i) Mixed numbers can be written as proper fractions.

(iii) Improper fractions can be rewritten as mixed numbers.
(iv) Like fractions have the same numerator.

A) Statement (iv) only B) Statements (ii) and (iv) only
C) Statement (ii) only D) Statement (iii) only
Answer Key : B Your Response : Not Answered

Question No. 54
ffaf@d # & 9 @1 afcas aaa, e § 310 Jua gar &2
A) Grefas B) wifsaer
C) Hfeers D) T

Y / 1



Which of the following metallic elements is denser than water?

A) Potassium B) Sodium
C) Calcium D) Lithium
Answer Key : C Your Response : Not Answered

Question No. 55

Ife aF], 3Ed 3R aad oF F TPRIT S O & g T&r Srehr &, o el & arg i
T FI?

A) arEdfas 3R 3ofer B) 3mHRT 3R Hremw
C) arEdias 3T 3mafta D) arEdides 3R FHGT HTHR T

If the object is placed between infinity and optical centre O of the concave lens, how will the
image be formed after refraction?

A) Real and inverted B) Virtual and erect
C) Real and enlarged D) Real and same size
Answer Key : B Your Response : Not Answered

Question No. 56

Th d5h H(2)° x (8)2 H AR fo@sr & AU Far ™M 3T 5§ 2582 fo@mn wed AT 3R
arEdfas AT & & & AR AT S|

A) 189 B) O

C) 534 D) 37

A boy was asked to write the value of (2)° x (8)2. He wrote it as 2582. Find the difference
between the obtained and the actual value.

A) 189 B) O
C) 534 D) 37
Answer Key : C Your Response : C (Correct)

Question No. 57




QAFHOT HeTel T 3UZNT & fAsor & queor & faw fmar e g

A) i @R gerif B) &#He® 3R &y
C) el TR & AT 38 D) 3ff&sofr e uerat

Separating funnel is used to separate a mixture of-

A) Miscible liquids B) Salt and camphor
C) Dye in a black ink D) Immiscible liquids
Answer Key : D Your Response : Not Answered

Question No. 58

Ife ey Hesmr & 'MISTAKE' &t 9765412 for@rm Sirar § 3R 'NAKED' & 84123 forar irer &,
or 'STAIN' = S forar sirem?

A) 89483 B) 65478

C) 68194 D) 98175

If 'MISTAKE' is coded as 9765412 and 'NAKED' is coded as 84123, how is 'STAIN' coded?

A) 89483 B) 65478
C) 68194 D) 98175
Answer Key : B Your Response : B (Correct)

Question No. 59
ggell 20-20 fhshe faRa & favdst Shar ar?
A) URA B) d¥c g3
C) wifeedre D) gvels

Who won the first Twenty20 Cricket World Cup?
A) India B) West Indies
C) Pakistan D) England

Answer Key: A Your Response : A (Correct)

ny / 1



Question No. 60

T v Rredt & F T Fr T
A) 1331 B) 729
C) 2197 D) 441

Find the ODD one out from the given options.

A) 1331 B) 729
C) 2197 D) 441
Answer Key : D Your Response : D (Correct)

Question No. 61

SHIISAIS T 39T fFAT Shar &
A) Srafega B) fafeor
C) 3Mcgranss D) XX

Echocardiograph makes use of-

A) Bioelectricity B) Radiation
C) Ultrasound D) X-ray
Answer Key : C Your Response : Not Answered

Question No. 62
et | IO THAICT: 39 RSN B haE & AT v Sirer goar g2
A) faeraer B) ek
C) #FaI D) 2T T HIaT

Which creature usually makes a web to trap its victims?
A) Cockroach B) Caterpillar
C) Spider D) Silkworm

Answer Key : C Your Response : C (Correct)

ny / 1




Question No. 63

12 + 22 + 32 + .. + 102 T AT AT L
A) 265 B) 285

C) 385 D) 305

Find the value of 12+ 22+ 32 + ...... + 102

A) 265 B) 285
C) 385 D) 305
Answer Key : C Your Response : C (Correct)

Question No. 64

HIET YsloleT HIRAST T ATH FAT §?
A) <IhToT B) 3EREY

C) 37 D) sz

What is the name of a female reproductive cell?

A) Sperm B) Ovary
C) Egg D) Ovule
Answer Key : C Your Response : B (Wrong)

Question No. 65

ar esfrar fofla femsit F amr #velr § ugel arelr # A & 25 Refirder @ e ¥ e
9ided T 'B' TF UGl A 20 ©E I §1 g@ arel FI 'B' ¥ Ugell arell ¥ TR H BAerd go
39eT Ficied T 'A' O GETel A 25 ©E I §1 g@d drelr fr 9 AT H

A) 25 frsfieer B) 20 fafv/eer

C) 15 fapsfi/ger D) 18 fafveer

Two girls travel in opposite directions, the former from ‘A’ at a speed of 25 km/h and takes 20
hniire in raarh har destiaatiaaRi-Chalottan oo

=G fomrmmm—t-————~~nh har dacfinatinn 'A’



meeting the former on her way. What is the latter's speed?

A) 25 Kkm/h B) 20 km/h
C) 15 km/h D) 18 km/h
Answer Key : B Your Response : B (Correct)

Question No. 66

& A (745375 x(7-345 )

A) B)

0 D)

| B3
e

Silnphfy: \/(7 he 3\1"5.) % (_f - S\E)

A) B)

&) D)




| R]
e

Answer Key : C Your Response : C (Correct)

Question No. 67

A8 O P T QBT F sAFelAP GaNT 8§72

A) 2,8 B) 2, 81

C) 2, 7,8 D) 2,8, 7

The electronic configuration of sodium is-

A) 2,8 B) 2,8,1
C) 2,7,8 D) 2,8,7
Answer Key : B Your Response : B (Correct)

Question No. 68

s Rgga et W 2 kW Weer #r 18 1 Rega et & {7 5.4 ufar frellare 81 fev & 3 ¢
39T A U 4T faegd St & Hed fohce gham?

A) .48 B) .24

C) ®.12 D) %.36

An electric heater is rated at 2 kW. Electrical energy costs Rs.4 per kWh. What is the cost of
using the heater for 3 hours?

A) Rs.48 B) Rs.24
C) Rs.12 D) Rs.36
Answer Key : B Your Response : B (Correct)

Question No. 69

afg el oRuer 7 % @ sew Aol o & 53 g0 &, AR N e wow &g @ S, o IR




godl YT AT Y1 g1aN?

A) FT Ted e G B) $& Fod Sleldl 3R & 6l SToidl

C) 31T T Fod STolell §¢ HT &3 D) 3T T3 Sod SToldl

If many bulbs are connected in series in a circuit, and if one bulb blows off, what happens to the
other bulbs?

A) A few bulbs burst B) Some bulbs glow and some do not glow
C) All the other bulbs stop glowing D) All the other bulbs glow
Answer Key : C Your Response : C (Correct)

Question No. 70

fig S ¥ Y& Fah, AU AT Hir 3T 25 ey =er| TF Il A1§ 3 HsT 3R 50 FHew =
a5 O & el a1§ 3R 3T 3K 25 Ay Fem gF WY & Hoel 915 AW F3H 60 e Te
AR g T W agar| #iewr &g S ¥ Prcelr g7 AR fhw fem &2

A) 25 Hiex, FeaR B) 10 #fex, qd
C) 10 #Hiex, ufea#H D) 25 #Hiex, qfgas

Starting from a point S, Mahesh walked 25 m towards south. He turned to his left and walked
50 m. He again turned to his left and walked 25 m. He again turned to his left and walked 60 m
and reached a point T. How far and in which direction is Mahesh from Point S?

A) 25 m, north B) 10 m, east
C) 10 m, west D) 25 m, west
Answer Key : C Your Response : D (Wrong)

Question No. 71

egafa e F 3T Ry To & Jeie & AT Yo Far Srar 2
A) HRT & Isedid B) I FHT
C) ol & D) #Rd & JUTHAT

Budget of a state under President's rule is presented to-

A) President of Indiz R —Daoiva-Sghk~ ]




C) Lok Sabha D) Prime Minister of India

Answer Key : C Your Response : A (Wrong)

Question No. 72

fRefaf@d & @ il @ 39 dlRX & 3ieT St Fod & T Fr FEET Fr 82

A) UIZS B) Hrursiiss
C) Mfazer D) 31ee e

Which of the following glands controls the rate of energy release inside the body?

A) Thyroid B) Parathyroid
C) Pineal D) Pancreas
Answer Key : D Your Response : Not Answered

Question No. 73
shal & sz 3R BIEPRT i TS AFT FY FAT FHglh 1T 82
A) TIENT(Endotrophic) B) gui(Eutrophic)

C) aEgqT(Mesotrophic) D) fAGUIE(Oligotrophic)

Excessive amount of nitrogen and phosphorous in lakes is called as-

A) Endotrophic B) Eutrophic
C) Mesotrophic D) Oligotrophic
Answer Key: B Your Response : Not Answered

Question No. 74

TF e, UF &F & 6 € 3 9T AFhaT & M &F IR St F 915, deT 31 AT Fer @y S
g1 & N e A ol et THT TAIM?

A) 4 ®er 30 e B) 2 ®er 20 e

C) 3 =er 45 e D) 3 =er 25 &

A tap can fill a tank in 6 hours. After half the tank is filled, three more similar taps are opened.

—7




What is the total time taken for the tank to get filled?

A) 4 hours 30 minutes B) 2 hours 20 minutes
C) 3 hours 45 minutes D) 3 hours 25 minutes
Answer Key : C Your Response : C (Correct)

Question No. 75

fARET 3reqard 1 9w s @ fear amar ar?
A) TS ddagsiER B) Sied Siha Foifoldd

C) SI% To UI3ec D) S 3TecsT

The law of definite proportions was given by-

A) Antoine Lavoisier B) Jons Jacob Berzelius
C) Joseph L. Proust D) John Dalton
Answer Key : C Your Response : Not Answered

Question No. 76

I et Al & 3 @ 4 ¥ gew S § 3K 5 & o fRar Siar @, o aRome sas
dict T Y HT RMA &1 N F T gl ¢, W 3G 5 a¥ ¢, 9T § oF a¥ D g1 arer A
T T 87

A) 60 B) 59

C) 58 D) 57

If 4 years are subtracted from the age of a person and divided by 5, the result gives his
grandson's age. The grandson now has a sister aged 5, six years younger to him. How old is
the grandfather?

A) 60 B) 59
C) 58 D) 57
Answer Key : B Your Response : B (Correct)

Question No. 77

O e A A2 . 4 my O OO N



¥ PleT AT T 8?7
A) xX=svy B) xzvy

C) x>y D) x <y

Given 2x2 + 19x + 45 = 0 and 2y? + 11y + 12 = 0, then which of the following regarding the roots
X,y is TRUE?

A) x=y B) x2y
C) x>y D) x<y
Answer Key : D Your Response : Not Answered

Question No. 78

U AfFd o afrel F ¥ 9&F # .1125 F Juar &1 30 & IEfhd S99 W 11% H7 e
grar ¥ 3R qudr asfre 9o W 11% i gf gt §1 38 Jer arer amor ar gy e fifsre

A) 1.2% & gifa B) 1% ©hr omeT

C) =T & &re7 3R a1 & gifer D) 2% @ gfer

A man sold two cycles at Rs.1125 each. By selling one cycle, he gained 11% and by selling the
other cycle, he lost 11%. Find his gain or loss.

A) Loss 1.2% B) Gained 1%
C) Neither profit nor loss D) Loss 2%
Answer Key: A Your Response : A (Correct)

Question No. 79

39 W H, & FUT F a1g ar s R v 1 397 fswd() A oot S arfes w1 & waifew
39ged Bl

e

1) 'P', 'Q" FT A1 &I




2) 'R' 'P' & a5 &1

oSy

l. 'Q" TF 5hr gl

II. 'Q" T oI5 Bl

A) 1 ot sy | ar |l 39gEd Bl B) @hael fosahy Il 3ugeFd &l

C) Fad ey | 3uged Bl D) farsay | 3R |l et & 3ugerd &

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:

1) 'P' is the brother of 'Q'.

2) 'R' is the brother of 'P".

Conclusions:

I.'Q" is a girl.

Il. 'Q" is a boy.

A) Either conclusion | or |l follows B) Only conclusion Il follows

C) Only conclusion | follows D) Both conclusions | and Il follow
Answer Key : A Your Response : A (Correct)

Question No. 80

3 Fr € # 4:50 dF §, Sfel AT arell S 3o} aivEH Fr 3R § T arelr g§ B fwr &




A) eiEIoT afdes B) afator
C) gd D) af&r qa

Abu's watch is showing time as 4:50, where minute hand points north west. Which side will hour

hand point?
A) South west B) South
C) East D) South east
Answer Key : D Your Response : D (Correct)
Question No. 81
Aofr = qof A

684, 114, 57, 9.5, (..)
A) 4.95 B) 4.75

C) 5.82 D) 5.18

Complete the series.

684, 114, 57, 9.5, (...)

A) 4.95 B) 4.75
C) 5.82 D) 5.18
Answer Key : B Your Response : B (Correct)

Question No. 82

PleT A AT A=Y fRAw v Heer w gafeaw o & qoi HEl?




3:29::6:7
A) 247 B) 251

C) 218 D) 229

Which number will best complete the relationship given below?

3:29:6:?
A) 247 B) 251
C) 218 D) 229
Answer Key : C Your Response : C (Correct)

Question No. 83

gfg + AR X 39T 7 s A ar § 3R 31 5 3R 9 F e off se R S §, ar
AT 7 A i 71 Reew Tl 82

0

A 2x9+3x5=21 B) 5x9+3x3

C) 9x5+2x2 32

25 D) 3+9x3+5

If '+' and 'X' are interchanged and also the numbers 5 and 9 change places, which of the
following options is correct?

A) 2x9+3x5=21 B) 5x9+3x3=0
C) 9x5+2x2=25 D) 3+9x3+5=32
Answer Key : C Your Response : C (Correct)

Question No. 84




-20/19 20/19

C) D)

-16/19 8/19

9(3-5)-5(4)+10

Simplify:
plify 3(5)-2%x4+2
A) B)
-20/19 20/19
0) D)
-16/18 3/19
Answer Key : B Your Response : B (Correct)
Question No. 85
fET a7 Feredl § W T F A

A) B)




0 D)

Find the ODD one out from the given options.

A) B)

.

o) D)

N

Answer Key : B Your Response : A (Wrong)

Question No. 86
Ay 3rafas aRug 6 218 dow war IRGT fr a5 0?

A) CEIcH B) o@d3
C) $Frel D) =g fewelr

Where was 21st Central Zone Council meeting held?




A) Dehradun B) Lucknow
C) Imphal D) New Delhi

Answer Key : B Your Response : Not Answered

Question No. 87

afg A 3R B, 1 & 7t af wipfaw d&ad § 3R 3asr AFA(HCF), 1 8, o 501 & =i @r
FAT AWM T 87

A) A, B HANT HEAT gl B) A B T&h g@l & Yid 3 Ege=d ¢l
C) UTeThel AB Teh 3o HET § D) A, B =T 3HT=T TEIN &l

If A, B are two natural numbers >1 and their H.C.F is 1, then which of these statements is
always TRUE?

A) A, B are even consecutive numbers B) A, B are coprime to each other
C) Product AB is a prime number D) A, B are both prime numbers
Answer Key : B Your Response : A (Wrong)

Question No. 88

Ffaf@a IaRY #r eareT § 96 3R T Re 1w 9ReT Fr 3caw &I

|l &Fd- A, B, C, D, E, F 3R G U% ged & aRf 3K Fg i 3 g :& 35 §1 A, G 3R
DFIT AT C, ADFHEIN AW AT RE BIAFF T A d181 B, EF
TITT H G Yo7 ¢

F=faf@a & @ #ld A & g8 3R 9 e W dor 82




Seven persons—A, B, C, D, E, F and G are sitting along a circle facing the centre. A is between
G and D. C is second to the right of D and is between B and F. B is not the neighbour of E.

Who among the following sits fourth to the right of A?

A) C B) E
C) G D) F
Answer Key : D Your Response : Not Answered

Question No. 89

e 2019 & AU o YT UG 3I9AT adleiie -1 PA=faf@a & & fFa 2 & 3iaRer &
diee fRar 82

A) USA B) e

C) & D) #IRd

From which of the following countries has Nepal launched its first satellite NepaliSat-1 into
space in April 20197

A) USA B) China
C) Russia D) India
Answer Key: A Your Response : Not Answered

Question No. 90

ool & Ugell aX URI¥S Axg # mafaa Y v A
A) 1963 B) 1982
C) 1951 D) 1971

The Asian Games were held in Delhi for the first time in-

A) 1963 B) 1982




C) 1951 D) 1971

Answer Key : C Your Response : Not Answered

Question No. 91
S WATST T HEAH FieT 52
A) 3R B) &Y

C) s e D) ¥R emE g

Who is the founder of the Mughal Empire?

A) Akbar B) Babur
C) Ibrahim Lodi D) Sher Shah Suri
Answer Key : B Your Response : Not Answered

Question No. 92

A=A SeaR & &I 9 96 3R R fu 91w wReT &1 3ca} &I

s #M- A, B, C, D, E, F, G 3R H e geamr AT & art 3K &g i 3 75 a1 § §,
oftper Sl o8 B ST & gl 3T & TS T UG IelT e g, S - FEwHEA, g F,

A, REm 7 & o 3R Y T W Sor g, A BT F#f 3T H & @ Faer o der 33 &
uRaga #ar 3 I FNr e vl §1 7 A A IR T & H oRager #F ar g wH F
gRagel #0t, R 7 i e TSl A &1 qETHA E & a1 3R @ T W/ Ja7 ¢ E,
H &1 scad wRlr a8 31 fgee, @ #f 3R wreew # Aaf #1 Recad Rl 81
g A4 B & @18 3R Ay ¥ W da7 §1 B aRagsr #Ar 16 81 C 9o & & 8 a5
3R dor Bl A wereT FA a7t §1 F, A 1 Tdean asil At 81 G, A F e s

sTer gl

fefaf@d F & i R #7932

A) G B) A

C) C ; D) _R -



Read the following information carefully and answer the question given below.

Eight Ministers —A, B, C, D, E, F, G and H are sitting around a circular table facing the center
but not necessarily in the same order. Each one of them holds a different post—Chief Minister,
Home Minister, Prime Minister, Tourism Minister, Transport Minister, Defence Minister, Health
Minister and Education Minister.

A sits third to the right of the Education Minister, and only two people sit between the Education
Minister and H. The Transport Minister and the Home Minister are immediate neighbours.
Neither A nor H is a Transport Minister or a Home Minister. The Transport Minister is not an
immediate neighbour of the Education Minister. The Chief Minister sits second to the left of E. E
is not an immediate neighbour of H. The Chief Minister is an immediate neighbour of both the
Defence Minister and the Health Minister. The Health Minister sits third to the right of B. B is not
the Transport Minister. C sits to the immediate right of the Prime Minister. A is not the Prime
Minister. F is not an immediate neighbour of A. G is not an immediate neighbour of the Chief
Minister.

Who among the following is the Education Minister?

A) G B) A
C) C D) B
Answer Key : C Your Response : Not Answered

Question No. 93

ufFecATH F aIc F 14 dcal T AT gl AT &2

A) s sdldh & dcd B) p sdish & dcd
C) uldearss D) ofdarss

The 14 elements after actinium are called-
A) s block elements B) p block elements

C) Actinides D) Lanthanides

A snovivaw T7Avr « I y / lann A



Question No. 94

Ifg 22° C W g1 # eafr i =@rer 344 #Hex / (s §, AR gfdeafer S e g 99 F v
teafy 3R wfdeaf & @ F1 ~AGH TAT IR 0.1 Fhs g, dF 95 gl AT AT, St eafr
& Wd & Wafdd g dh o 3R BT FeT T a9d e & fav a7 F6 gef?

A) 12.8 #Hiex B) 34.4 X
C) 18.6 Frex D) 17.2 #ex

If the speed of sound in air is 344 m/s at 22° C, and the minimum time interval between sound
and echo is 0.1 s for a distinct echo, what is the distance the sound should travel from source to
reflecting surface and then back to ear?

A) 128 m B) 344 m
C) 18.6 m D) 17.2m
Answer Key : B Your Response : Not Answered

Question No. 95

LGRS FT T AT gl
A) drer B) 9RT
C) dlsr D) drer

Cinnabar is an ore of-

A) Copper B) Mercury
C) Gold D) Silver
Answer Key : B Your Response : Not Answered

Question No. 96

P o ARaa & #1 80%, 20 et & qur &ar g1 T Q #r #gg & @5 39 3R 3 =l
GcH T Tehel g1 G Q 31hel HIFA AT 8, dl 39 FF QU el 7 fhcer e e@ier?

A) 35 B) 36.5

C) 375 D) 40




P completes 80% of a certain work in 20 days. Then with the help of Q, he is able to finish it in 3
more days. How many days will Q take to finish the work, if he works alone?

A) 35 B) 36.5
C) 37.5 D) 40
Answer Key : C Your Response : Not Answered

Question No. 97

39 WA #, o FUST F 915 A AsRd Ru 1w 1 37 (sl #@ T S A §9 @ Feifes
39gF &l

YT
1) ¥ F9, frae g

2) 3o e, A€ §l
s
l. $& %, AE Bl

Il Tafr erE, e &
A) Faer fTsay || 3ugEd ¢ B) Fad forsey | 3ugad ¢
C) =1 ar forsehy | &7 1 1l 3ugerd Bl D) fase | 31X 1 aat & 3ugerd

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) Some cups are books.
2) Some books are shirts.

Conclusions:
I. Some cups are shirts.
Il. All shirts are books.




A) Only conclusion Il follows B) Only conclusion | follows
C) Neither conclusion I nor Il follows D) Both conclusions | and Il follow

Answer Key : C Your Response : C (Correct)

Question No. 98

3l fr IR T T@T T Igfad aiAEg faem & 135 e 3t fhv gf@omad faer F 180 fsfr
HST &1 319 3HF WeAer & 30T et W farmw 82

A) efEroT g B) 3R qa
C) uftas D) 3caRk ufeaH

A man facing north turns 135 degrees in the anti-clockwise direction and then 180 degrees in
the clockwise direction. Which direction is he facing now?

A) South east B) North east
C) West D) North west
Answer Key : B Your Response : B (Correct)

Question No. 99

Ugell Jaeuta [3are 7 AET srar 82
A) fCerer B) TSt
C) cTeler D) RhecH

Who is considered as the first botanist?

A) Plini B) Archimedes
C) Plato D) Theophrastus
Answer Key : D Your Response : Not Answered

Question No. 100

AR 3T videst =T &7
A) FAERNT g B) &Il T
C) ﬂmﬁeﬂuﬁml D) Hmﬁ%ﬂq'mamsét




Myosin and actin are-
A) Muscle protein B) Muscle fat

C) Muscle enzymes D) Muscle carbohydrate

Answer Key : A Your Response : Not Answered




